
Parts List January 15, 2007
Lit. No. 28562, Rev. 04

  A DIVISION OR SUBSIDIARY OF DOUGLAS DYNAMICS, L.L.C.

HARNESS KIT & ADAPTER KIT 4-PORT ISOLATION MODULE LIGHT SYSTEM

Plug-In Harness, Plug-In Harness Extension, and Plug-In Adapter Kits 
Qty 

Part Description 

84
36

 
84

37
-1

 
84

38
 

84
39

 
84

42
 

84
43

 
26

64
0 

26
64

1 
27

48
0-

1 
27

78
0 

27
89

0 
27

96
8 

28
02

7 
28

02
8 

28
40

0 
28

55
5 

28
86

0 
29

42
0-

1 
29

45
8 

26638 Plug-In Harness, 7-Pin Connector      1              
26354 Plug-In Harness, HB-1 or HB-5, Long 1                   

26360-1 Plug-In Harness, HB-3 & HB-4-A, Long  1       1           
26352 Plug-In Harness, HB-3 & HB-4-B, Long   1       1          
26353 Plug-In Harness, 2B or 2D or HB-2, Long    1                
26370 Plug-In Harness, HB-5 & HB-1, Long     1               
28242 Plug-In Harness, H13, Long               1     
27886 Plug-In Harness, 5-Pin Connector, Long           1         
28030 Plug-In Harness, 4-Position, Long              1      
26349 Plug-In Harness, HB-1 or HB-5, Short 1                   

26361-1 Plug-In Harness, HB-3 & HB-4-A, Short  1       1           
26351 Plug-In Harness, HB-3 & HB-4-B, Short   1       1          
26356 Plug-In Harness, 2B or 2D or HB-2, Short    1                
26372 Plug-In Harness, HB-5 & HB-1, Short     1               
28244 Plug-In Harness, H13, Short               1     
27885 Plug-In Harness, 5-Pin Connector, Short           1         
28032 Plug-In Harness, 4-Position, Short              1      
26357 Vehicle Lighting Harness – 11-pin 1 1 1 1 1 1   1 1 1   1 1     
26400 Isolation Module – White Label 1  1 1 1 1   1  1   1 1     
27781 Isolation Module – Light Green Label  1        1          
20681 Battery Cable – 50"      1  1         1   
21563 Battery Cable – 90"       1             
26636 Extension Harness – 100"       1             
22381 Battery Adapters, Side Terminal  1 1      1 1    1      
26642 Adapter Cable – HB-5 Female to 1A/2A        2            
26643 Adapter Cable – HB-5 Male to 1A/2A        2            
27968 2B to 2E Adapter Kit (2 Adapters Included)            1        

29420-1 H13 to HB-3/H11 Adapter Kit (2 Adapters Included)                  1  
29458 HB-4 to H11 Connector Kit                   1 
28027 In-Line Adapter             1       
28858 Plug-In Adapter w/Park                 1   
28859 Plug-In Adapter w/o Park                 1   
28555 Adapter Kit                1    
64128 Motor Relay Bracket           1         
26395 Parts Bag – Configuration Plug (back) 1  1 1 1 1   1  1   1 1     
26396 Parts Bag – Dust Cover (back)  1        1          
26661 Parts Bag – Cable Clamp Kit (back)      1              
26662 Parts Bag – Motor Relay Bracket (back)      1 1             
27921 Bolt Bag           1         
26273 Dodge Sport Package Adapter Kit     1               
21651 Grommet #2, Rubber       2             

 



HARNESS KIT & ADAPTER KIT 4-PORT ISOLATION MODULE LIGHT SYSTEM

Copyright © 2007 Douglas Dynamics, L.L.C. All rights reserved. This material may not be reproduced or copied, in whole or in part, in any printed,
mechanical, electronic, film or other distribution and storage media, without the written consent of the company. Authorization to photocopy items
for internal or personal use by the company’s outlets or snowplow owner is granted.

The company reserves the right under its product improvement policy to change construction or design details and furnish equipment when so
altered without reference to illustrations or specifications used. This equipment manufacturer or the vehicle manufacturer may require or recommend
optional equipment for snow removal. Do not exceed vehicle ratings with a snowplow. The company offers a limited warranty for all snowplows
and accessories. See separately printed page for this important information.

Printed in U.S.A.

Lit. No. 28562, Rev. 04 2 January 15, 2007

26395  Parts Bag – Configuration Plug 
Part Qty Description Part Qty Description 

 1 Splices & Heatshrink Tubing 26297 4 1 x 3 Reclosable Fastener Strip 
98017 2 1/4-14 x 1 Tapping Screw 26421 1 Configuration Plug 

 
 

26396  Parts Bag – Dust Cover 
Part Qty Description Part Qty Description 

 1 Splices & Heatshrink Tubing 26297 4 1 x 3 Reclosable Fastener Strip 
98017 2 1/4-14 x 1 Tapping Screw 26420 1 Dust Cover 

 
 

26661  Parts Bag – Cable Clamp Kit 
Part Qty Description Part Qty Description 

26639 2 Cable Clamp, 3/4 Diameter x 1/2 Wide 91331 2 1/4-20 Hex Locknut GB 
90612 2 1/4-20 x 1 Hex Cap Screw G5 90311 4 1/4 Flat Washer 

 
 

26662  Parts Bag – Motor Relay Bracket 
Part Qty Description Part Qty Description 

20679 1 Motor Relay Mounting Bracket 66456 2 3/8-16 x 1-1/4 Hex Cap Screw G5 
90612 2 1/4-20 x 1 Hex Cap Screw G5 91333 2 3/8-16 Hex Locknut GB 
91331 2 1/4-20 Hex Locknut GB 90315 2 3/8 Flat Washer 

 
 

27921  Bolt Bag 
Part Qty Description Part Qty Description 

66456 1 3/8-16 x 1-1/4 Hex Cap Screw G5 91203 1 3/8 Spring Lock Washer 
91333 1 3/8-16 Hex Locknut GB 90423 1 M8 x 1.25 Hex Nut G10 
90315 2 3/8 Flat Washer    

 
 

26273  Dodge Sport Package Adapter Kit 
Part Qty Description Part Qty Description 

26148 5 Bracket 91331 10 1/4-20 Hex Locknut GB 
90461 10 1/4-20 x 3/4 Hex Cap Screw G5 90311 20 1/4 Flat Washer 

 


